Chapter 3 – Market Insight
True/False Questions

1.
An initial broad approach to defining a market ensures against marketing myopia.


True  (easy)

2.
Marketing myopia is the risk of defining a market too narrowly at the onset because of biases or insufficient data.


True  (moderate)

3.
Several product lines make up each product class (or sub-category).


False  (moderate)

4.
A product class is a subset of the product line.


False  (difficult)

5.
A product item is uniquely identified, like having a specific size and color.


True  (moderate)

6.
In developed countries, a recent trend is exurban growth, which is a return to rural communities.


True  (moderate)

7.
According to the text, population shifts often follow the sun.


True  (moderate)

8.
Life cycles are the most common means for describing, over time, the evolution of markets and products, product classes, product forms, product lines, and product items.


True  (moderate)

9.
The five stages of the classic product life cycle are innovation, early growth, late growth, maturity, and decline.


False  (moderate)

10.
Product form life cycles last the longest, and, in general, the firm has little impact on these life cycles.


False  (moderate)

11.
Maturity is the stage of the product life cycle in which sales volume is initially low.


False  (moderate)

12.
The stage of the life cycle in which sales volume is flat year to year is maturity.


True  (difficult)

13.
Introduction is the stage of the product life cycle in which firms typically offer a single product design, sometimes with erratic quality, and prices that may not cover total costs.


True  (moderate)

14.
The stage of the life cycle in which strong competitors initiate tough actions to maintain their growth rates as they force weaker entrants to withdraw is decline.


False  (moderate)

15.
Laptop computers are now in the late-growth stage of the product life cycle.


True  (moderate)

16.
Economists use the term monopoly to describe concentrated markets.


False  (moderate)

17.
Profit curves do not mirror sales curves.


True  (moderate)

18.
A firm’s current direct competitors offer current customers similar benefits with similar products, technology, and/or business models.


True  (moderate)

19.
The most severe supplier threat is backward integration.


False  (moderate)

20.
The most severe threat from buyers is forward integration.


False  (moderate)

Multiple Choice Questions

21.
Which of the following is a NEW way in the changing view of marketing insight?

a.) Competitive advantages are quickly dissipated.  (moderate)

b.) Change is evolutionary.

c.) Firms operate independently.

d.) Life cycles are fixed and constrained.

22.
All of the following are examples of NEW ways in the changing view of marketing insight EXCEPT:

a.) Change is an opportunity.

b.) Competitive advantages are long lasting.  (moderate)

c.) Firms are networked.

d.) Innovation is essential.

23. An initial broad approach to defining a market ensures against ________________.

a.) product imitation

b.) marketing segmentation

c.) marketing myopia  (moderate)

d.) marketing innovation

24.
_________________ is the risk of defining a market too narrowly at the onset because of biases or insufficient data.

a.) Marketing myopia  (moderate)

b.) Product imitation

c.) Marketing segmentation

d.) Marketing innovation

25.
Which of the following is NOT an example of a product class?

a.) Theater

b.) Television

c.) Home videos

d.) iPods  (easy)

26.
Several ______________ make up each product class (or category).

a.) product forms  (moderate)

b.) product items

c.) product segments

d.) product lines

27.
Which of the following is a subset of the product line?

a.) Product form

b.) Product item  (moderate)

c.) Product class

d.) Target market

28.
A ______________ is uniquely identified, like having a specific size and color.

a.) product form

b.) product class

c.) product item  (moderate)

d.) target market

29.
In many developed nations, annual population growth rates are _________________.
a.) less than 1 percent  (easy)

b.) about 5 percent
c.) about 10 percent
d.) about 20 percent
30.
In developed countries, a recent trend is ________________, which is a return to rural communities.

a.) inurban growth

b.) transgenerational growth

c.) exurban growth  (moderate)

d.) cross-sectional growth

31.
According to the text, population shifts often follow ______________.

a.) the moon

b.) the ocean currents 

c.) the rotation of the earth

d.) the sun  (moderate)

32.
Which of the following is NOT a country that currently surpasses the U.S. in per-capita income?

a.) Qatar
b.) Canada  (difficult)

c.) Singapore
d.) Norway

33.
_____________ is/are the most common means for describing, over time, the evolution of markets and products, product classes, product forms, product lines, and product items.

a.) Perceptual mapping

b.) Conjoint analysis

c.) Life cycles  (moderate)

d.) Target marketing

34.
Which of the following is NOT one of the five stages of the classic product life cycle?

a.) Innovation  (moderate)

b.) Early growth

c.) Maturity

d.) Decline

35. _______________ last the longest, and, in general, the firm has little impact on these life cycles.

a.) Product form life cycles

b.) Product class life cycles

c.) Product line life cycles

d.) Market life cycles  (moderate)

36.
The stage of the life cycle described with slow growth or flat year to year sales is ________________.

a.) maturity  (moderate)

b.) early growth

c.) introduction

d.) decline

37.
In which of the following stages of the product life cycle do firms typically offer a single product design, sometimes with erratic quality, and prices that may not cover total costs?

a.) Introduction (difficult)

b.) Early growth

c.) Maturity

d.) Decline 

38.
In which of the following stages of the product life cycle is price a major competitive weapon, often squeezing distributor margins?

a.) Introduction

b.) Late growth (difficult)

c.) Maturity

d.) Decline 

39.
The stage of the life cycle in which strong competitors initiate tough actions to maintain their growth rates as they force weaker entrants to withdraw is ________________.

a.) maturity

b.) introduction

c.) late growth  (moderate)

d.) decline

40.
Laptop computers are now in which of the following stages of the product life cycle?

a.) Introduction

b.) Maturity

c.) Late growth (difficult)

d.) Decline 

41.
Slow growth or flat year-to-year sales characterize which of the following stages of the product life cycle?

a.) Introduction

b.) Late growth

c.) Maturity (moderate)

d.) Decline 

42.
In which of the following stages of the product life cycle are most sales to repeat and loyal users?

a.) Introduction

b.) Late growth

c.) Maturity (difficult)

d.) Decline 

43.
Detergents and kitchen appliances are examples of which of the following stages of the product life cycle?

a.) Introduction

b.) Late growth

c.) Maturity (moderate)

d.) Decline 

44.
Economists use the term ______________ to describe concentrated markets.

a.) multiple

b.) monopoly

c.) fragmented

d.) oligopoly (moderate)

45.
Examples of products in concentrated markets include all of the following EXCEPT:

a.) Dentistry (moderate)

b.) IBM mainframe computers

c.) GE in steam turbine generators

d.) Gillette in shaving products

46.
According to the text, fragmentation generally occurs because of some combination of the following reasons EXCEPT:

a.) High exit barriers

b.) Regulation

c.) High entry barriers (moderate)

d.) Diverse market needs

47.
Examples of products in fragmented markets include all of the following EXCEPT:

a.) Dentistry

b.) Gillette in shaving products (moderate)

c.) Home plumbing

d.) Electrical contracting

48.
Which of the following is NOT an example of a product in the decline stage of the product life cycle?

a.) Carbon paper

b.) Chemical-film cameras

c.) Laptop computers (moderate)

d.) Videotapes

49.
Which of the following statements is FALSE?

a.) Profit margins are greatest in early growth.

b.) Profit curves do not mirror sales curves.

c.) Profit margins drop in late growth.

d.) Profit curves mirror sales curves. (difficult)

50.
Which of the following is not an element of the five-forces model?

a.) Suppliers

b.) Buyers

c.) Technology (moderate)

d.) New direct entrants

51.
A firm’s ________________ offer current customers similar benefits with similar products, technology, and/or business models.

a.) current direct competitors (moderate)

b.) new direct entrants

c.) indirect competitors

d.) current suppliers

52.
In a(n) _____________, two entities combine as equal partners to create a stronger firm.

a.) acquisition

b.) leveraged buyout

c.) merger (moderate)

d.) spin off

53.
The most severe supplier threat is _______________.

a.) forward integration (moderate)

b.) backward integration

c.) cross integration

d.) virtual integration

54.
The most severe threat from buyers is _______________.

a.) backward integration (moderate)

b.) cross integration

c.) forward integration

d.) virtual integration

55.
Which of the following is NOT an example of a force according to the PESTLE model?

a.) Political forces

b.) Economic forces

c.) Viral forces (moderate)

d.) Technological forces

Essay Questions 

56.
In a short essay, list and describe four categorizations of product offerings.


Answer

a.) Product class – a group of products offered by competing suppliers that serve a subset of customer needs in a roughly similar manner.

b.) Product form – several product forms (or sub-categories) that make up each product class 

c.) Product line – a group of related products that a single firm offers

d.) Product item – a subset of the product line that is uniquely identified

(moderate)

57.
In a short essay, list and describe the hierarchy of life cycles based on longevity and demand.


Answer

a.) Market life cycles last the longest, and, in general, the firm has little impact on these life cycles.

b.) Product class and product form life cycles are each shorter than the market life cycle—understanding these two life cycles is helpful in developing market strategy.

c.) Product item and product line life cycles are the shortest and are critical for product and brand managers, as they offer important performance data by product item and product line.

 (moderate)

58.
In a short essay, list and describe five stages of the product form life cycle.


Answer

a.) Introduction – sales volume is initially low. Product introduction frequently follows many years of R&D but reflects the market entry/or entries by leading firms.

b.) Early growth – sales volume grows at an increasing rate. Many products do not reach early growth, but the survivors’ sales revenues grow at an increasing rate.

c.) Late growth – sales volume grows at a decreasing rate. By late growth, the uncertainties that dominated introduction are largely resolved. Strong competitors initiate tough actions to maintain their growth rates.

d.) Maturity – sales volume growth is flat year to year. Most sales are to repeat and loyal users. Competitive situations vary widely so that the firm must secure deep market insight.

e.) Decline – sales volume eventually declines. When decline is swift, overcapacity often leads to fierce price competition. Firms often raise prices to cover costs as sales drop.

 (moderate)

59.
In a short essay, list and describe five industry forces according to the five-forces model.


Answer

a.) Current direct competitors – a firm’s current direct competitors offer customers similar benefits with similar products, technology, and/or business models. Current direct competitors are the competitive status quo, the traditional rivalry between established competitors.  

b.) New direct entrants – new direct competitors offer similar products and services to the firm—but previously they were not competitors. 

c.) Indirect competitors – indirect competitors offer customers benefits similar to the firm’s offers, but they provide them in a significantly different way. These functional substitutes often appear as different product forms or product classes.

d.) Suppliers – suppliers provide the firm’s inputs. The greater the importance of the supplier to the firm, the greater is the pressure. Supplier pressure may lead to higher prices, poor service, and/or poor delivery.

e.) Buyers – buyers purchase the firm’s products. A firm with many small customers faces little buyer pressure. Conversely, a small number of large customers can exert tremendous pressure; buyer pressure typically increases as market share increases.

 (moderate)

60.
In a short essay, list and describe the six forces according to the PESTLE model.


Answer

a.) Political forces – governments set the frameworks for developing the rules for business. Typically, governments intervene in economies to pursue political ends and enhance consumer welfare by creating a level playing field.

b.) Economic forces – generally, the country’s economic well-being influences market demand. High inflation, high and rising rates, falling share prices, and depreciating currency point to an unhealthy economy. Per-capita GDP and disposable income are generally good indicators of market demand.

c.) Sociocultural forces – culture is learned early in life, largely by influence from the family, schools, and religious institutions, and culture norms are resistant to change. Generally, people do not notice culture in their everyday lives, but see cultural values by comparison with different cultures.

d.) Technological forces – today, the pace of technological change continues to accelerate. Some technological innovations are industry-specific; others affect the entire economy.  

e.) Legal/regulatory forces – legal frameworks are the rules for business. It aims to protect societal interests, regulate market power, hinder collusion, and stop deceptive practices. Legal frameworks differ across countries, but generally govern mergers and acquisitions, capital movements, consumer protection, and employment conditions.

f.) Physical environmental forces – firms face increasing pressure from governments, environmentalists, single-issue advocacy groups, and the public at large to assume greater environmental responsibility for their products, packaging, and production systems. Natural resources availability is also a significant environmental issue.

 (difficult)
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